Efficiency vs dr

2 0.05

<
9.045

L
(@] J..G- 1I II rll ;All_l=llllll + e
IS 1.1 DQM _TT__MODIFIED_layerProcv2
o D8M TT__MODIFIED layerProcv2_windows
1§ 4 —— DOM_TT__MODIFIED ] IayerProch wmdows _hits
LI 11 n - .
oo | THTHEMRRTSAT,
0.8 iliilh
107 1072 = 1
TP min AR

[ Efficiency vs

dr (track,jet) |

.§0.02
a.018
£
2.016
©.014
>
9.012
2 o
o

£ 0.0]
©
0.008
0.006
0.004
0.002
e

Ratio
N

0.95

107

1072 1
AR(TP, jet)

Efficiency vs pu

—0.05
o
9.045
30.04
(]
'9.035
=
®0.03
0.025
0.02
0.015
0.01
0.005

....................................

.................................

. g
i

Ratio

30

40
Pileup

50" 50 70" 80 90 100

-1




	Contents
	Page 1


